
 
Grammar    Used To 

 
 

Used to + Infinitive 1 
 
 
Match the first part of each sentence with the correct second half: 
 
 
 
 
1. I used to be a vegetarian  a) but now I’m much slimmer. 
 
2. I used to be lazy   b) but I haven’t had any for ages. 
 
3. I used to like going to the opera  c) but now I go running instead. 
 
4. I used to go to church regularly  d) but I moved to England two months ago. 
 
5. I used to like Phil Collins  e) but now I drive. 
 
6. I used to be in a reggae band  f) but I’ve been working hard all day. 
 
7. I used to collect stamps   g) but now my home is much quieter. 
 
8. I used to drink green tea  h) but now I’m really popular. 
 
9. I used to get the bus to work  i) but I’ve just eaten a big steak. 
 
10. I used to have a hamster  j) but we broke up because nobody liked us. 
 
11. I used to go out with a Polish girl k) but now I support the Green Party. 
 
12. I used to have a gym membership l) but now I can’t stand him. 
 
13. I used to live in Scotland  m) but now I can’t afford it. 
 
14. I used to know a famous singer  n) but now I only go on Christmas Day. 
 
15. I used to be borderline obese  o) but now I’m not that bothered. 
 
16. I used to wear thick glasses  p) but he died two years ago. 
 
17. I used to live above a pool hall  q) but now he never responds to my texts. 
 
18. I used to vote Labour   r) but since I got married I haven’t had time. 
 
19. I used to worry about climate change s) but it didn’t work out. 
 
20. I used to have no friends  t) but a few weeks ago I got contact lenses. 


